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INSTRUCTION TO CANDIDATES

Immediatély after getting the booklet read instructions
carefully, mentioned on the front and back page of the

- question booklet. Do not open thé seal given on the
“right hand side, unless asked by the invigilator.

Write .your Roll No., Answer-sheet No., in the specified
places given above and do your signature.

Make all entries in the OMR Answer Sheet as per the
given instructions otherwise Answer-Sheet will not be
evaluated.

After opening the seal, ensure that the Que
Booklet contains total No. of pages as menti

If any discrepancy is found, inform the invigilator
15 minutes and get the correct question-boo
For each question in the Question Booklet choo
correct or most appropriate option from the given four
alternatives and darken the same circle in the OMR.
Answer sheet with Black or Blue ball point pen.
Darkén the circle of correct answer properly - otherwise
answers will not be evaluated. The candidate will be fully
responsible for it.

There are 100 objective type questions in this booklet.
1 mark is allotted for each correct answer.

No negative marking will be done. -

Do not write anything anywhere in the Question
Booklet and the Answer-Sheet except making entries -
in the specified places otherwise OMR sheet will not
be evaluated.

After solving. the questions, OMR sheet in to be handed
over to the invigilator. When examintion is over, the

-Question Booklet and the carbon copy of the Answer-

Sheet will be provided to the examinee.
This Question Booklet consists of Four Parts namely

(i) First Part : Physics - 25 Marks
(i) Second Part: Chemistry ~ 25 Marks
(iii) Third Part : Botany — 25 Marks
(iv) Fourth Part : Zoology — 25 Marks

All questions are' compulsory.

In case .of any ambiguity in Hindi version the English
version shall be considered authentic.
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PART - I (Physics)
qOT — | (Siferss o)

Is the given formula dimensionally correct ?

—= |
T=211, f—};/—x— , where T is time period, m is

mass, F is force and x is distance.

(A) Correct

(B) unitwise correct but dimensionally
_ wrong,

(C) Wrong

(D) None of the above

The body will move only when

(A) Force of friction =Applied force

(B) Force of friction < Applied force

(C) Force of friction >Applied force

(D) Alloftheabove

A body of mass m is released from rest on an
inclined frictionless surface as shown in
figure. The speed of the body as it reaches B
from Ais

A

: i

0] X —>
@A) el

® b

© 2gh

(D) 2gl.

1.

a1 e wiemr (wien) Tl v & wd
A _
R F/x
Eﬁ,sz,m:mF:W;
x=g08 | ‘
(A) #ET

B) I (3E) &1 A G& § aftea fefta =0
& Tere

(C) T™aE

D) IRh A B 7

(A) T T = FPIH T

(B) 99O T < IIIH I

(C) 9 7 > Y T

(D) SRiE Tt

m GIHM ! U GOhE %] HI, T80 e A

e (FEe ohg) R, fm i femn mn
FIER, BREITTR | AY B 9 TgaH do 6!
T T B 9

JeL
®) gh .
(©) f2gh
D) 2gl.

T F1 % fo@ 918 / SPACE FOR ROUGH WORK

0912/IE-NSG/PP-M

31

Set—- A



The moment of inertia of a solid cylinder of mass
M and radius R about a tangent on the surface
and parallel to the axis of the cylinder is

(A) 1.5 MR?
‘(B) 2MR?
(€) 2.5MR?

Z\/[Rz
D) 5 MR

A body of mass 1 kg strikes elastically with
another body at rest and continues to move in
the same direction with one fourth of the initial
velocity. Mass of the other body is

(A) 3.0kg

(B) 0.56kg

(C) 2.44kg

D) 4.0kg

The time period of an earth satellite in circular
orbitis independent of .

(A) massofthe satellite
(B) radiusof the orbit
(C) noneofthem

(D) bothofthem

4.'

5.

Je 3 ofe 5 THRR U9 SU%! Td8 W T @l
% gid: M g=gmH 3R R B & @ 3
T HeA A R

(A) 1.5MR?
(B) 2MR?
©) 25MR?

7 2
D) MR

1 BRI, gme o wF e frm o w6
R fire A yreaTey e e § o o fem
S TR 37 % Teh ST 361 & il T
2 | g fie #1 g=mm 3

(A) 3.0 BB,
B) 0.56 5.
(C) 2.44 f&am.
(D) 4.0 f5m.

gedt 3 W SR FEh el § TR A A

(A) SWE % gEHE |

(B) eN W B 9
(©) TG R AR A

®) & F
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7. The length of the metal wire is /; when the 7. T; 8@ R ey R 6 wEE 1, 54 1

tensioninitis 7y and /, when tensionin itis 7. e W g e L3 | @R & audees
— - Thenatwrabengtiristhe wire is s e S A
(A) Zl_"t_l_l_ , (A) i]__'f_!;—
% 2
®) Jlily LT (B) ,/11/2
e | falapio o etz il

LTy +15Ty | LTy v Ty

a)) Tz-l“-Tl . ) (D) ; T2+.T1‘

8.  The average distance covered byamolecule 8. % "W | a1 ¥ “n” 91 AW “d”

between two successive collisions of gas whose

density is “n” dnd diameter is “d” can be given ‘3“““ Hﬁ il
as | 1
= 1 IInd* \// 2
(A) ol '2
- IInd \/—2_ d
. ‘ 1
B =
| : ’ 11n? dv2
1% dV2
1 ' (C) o B
© —55= , T et d 2
) IMn?d® 2
1 _ . _ _ 1
D) ;I ndx/i l (e Tnd2
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10.

17

For cooking food, which of the following type 9.
of utensil is most suitable ?

(A) High specific heat and low conductivity
(B) High specific heat and high conductivity
(C)  Low specific heat and low conductivity

(D) Low specific heat and high conductivity

Radii of two spheres of same material are

land4 m respectively and their temperatures 10.

are4 x10% and 2 x 10° K respectively. Then
ratio of emitted energy of spheres per sec will

be
@A) 1:2
B 2:1
©

@) 4:1

A canis taken out from arefrigeratorat 0°C. 4

The atmospheric temperature is 25°C. If t is

the time takeh to heat from 0°C to 5°C and t, |

is time taken from 10°Cto 15°C, then
A) u>t
B) t<t
@€ 4=t

(D) There is no relation between t; &>t2

gl T % ol frm @6 & 9T waifue
SUGTH B 7

(A) 3= Tafre F= w@ e arewar

(B) 3% fIfire Som1 @ 3= Il

(C) F= Tl S w@ fom =merwan

(D) T FRTe S @ I Ao

AT ver % Q) et 1 Preard wEw: 1 @
43 qA T FAW: 4 x 10° 72 x 10°
K2 lfﬁaﬁmuﬁr@mwﬁamw
FAATE B

C(A) 1:2

(B). 2:1

© 1:1

(D) 4:1

MRk T o fesam 0°C @ R 1@ Feren
amT%amrammammzs‘?célaﬁﬁé
% qUEE F1 0°C & 5°C 3 # 1, G e 3

@ 10°C & 15°C B & t, 679 T B, o
(A 1>t

B) tH<t

©) tu=t

(D) t; T t, % AT HI§ TG A& a0

W w1 & o 918 / SPACE FOR ROUGH WORK
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12. A particle whose displacement at time tis ~ 12. e T %01 R foeomoe €93 t R x =a sin ot

X = a sinot takes time t; in reaching from SHEI: x=0 9 x = % LERSIC iR ]
. = a Sine e e ey i S ;
= X O-IQ--A-and-m-ne t31n n.‘dchmgf FORR%S == % Tx-amanigoaamel
%to x=a. Theratio t; / t is equal to | ty / ty Gﬁfﬂa B
A 1 . A 1
I 2
® 5 ® 5
1 C &
(C) = © >
e W F O 2

13. Anaudience moves towards a steady sound

. ' 1 :
source with a speed T times of the speed of

sound, then apparent frequency would be il
’ e 10
@ 19 fimes =) EE it
11 -
: 11
B) L times ®) 10 I
10
0 ‘ o L
©) = fimes - © 5T
10 :
®) 10 times ®) 107

13. @m@f@nmﬁ@azﬁaﬁzwﬁ%%
TAT BT & MG WA 2 | I Tl It

TF /™ % for@ S8 / SPACE FOR ROUGH WORK
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14. The Young’s double interference experiment,the 14,

slit separation is made 4 fold, the fringe width

becomes

% fy-wofie i & sl (Rere)® F9
#i g 4 T FA W G B e @l

(A) 4times

,‘ 1
B) 7 tifnes,
© Liimes

2

(D) 16times

15. Find the thickness of a plate which will 15,

produce a change in optical path equal to
half'the wavelength A ofthelight passing through
it normally (The refractive index of the plate
is ).

@) 24 (u-1)

Y el

-
® I

1
©) 'Z‘T‘T

© 16T

fre uf 1 el I W R s
FTufd vy R § o e W qeresd
A % 318 A B WHIT UY TRE ScaH

3, B (ol o SrE pR )

@ oy

® 2
p—1

A

G s

D) 21 (r-1)
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16.

17.

B)

L]

A concave mirror of focal length f (in air) is ltad

it
immersed in water ( H= ‘J . The focal length

3
of mirror in water will be i 5
4
TONE
(A) 5
3
=
4
© f
Te
®) 3

When object is self luminous, the resolving 17

power of a microscope is given by the

expression

2usin®
1.22A

(A)

B) pUsin®
A

2ucos®
1.22A

©)

o 2

»)

U ST Ul R g I # £ 1 3l
s@qas;ammmﬁmg 2 f g
T TR R gl At

Wi

3
® 7 f
(@) £
e :
® 3

T g TR 9, < Wb (GeaRi)
i fritew emar @1 weRfa fmn o wsar 3

2usin®

*) 1.221

B) psin®
A

21cos©
1.223

©

2p
® 2

v %M % frd 918 / SPACE FOR ROUGH WORK
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18.

19.

20.

e , ; =

Three photons coming from excited atomic
hydrogen sample are picked up. Their energies
are 12.1eV, 10.2eV and 1.9¢V. These

(A) asingleatom

(B) two atoms

(C) three atoms

(D) either two atoms or three atoms

The order of emission in

X = 2 YA 4 BA 5, BAh
will be :

(@AY oBl; i fe:

® 71,8«

© a,B, 7

®) B,a,v

The resistivity of intrinsic silicon at
room temperature is 1950 ohm meter.
If the mobilities of electron and hole be
0.15 m*>! s and 0.05 m?v?! 57!

respectively, the density of electron is

| (A) _4.8*1016 per metre’

B) 32 x 1016 per metre?

(C) 1.6x10' per metre

®) 0.8 x16"/m’

18; AR o wRgion % whad @ freen
A T Rl 1 TE B S |
I 12.1eV,10.2eV T 1.9eVE | Awem

- M danw
(A) qu:vaﬁséwm@

B) I wHwE A

(C) H WA | | ‘

(D) A A A AR wAmet A
19. frifera aififear & Seasla 1 w7 2

Xz YA > 2 BA Y, BAH

@ B.7.a
B) v,B,a
© o, B,
® B, oy

20. W % qH R g Rfers i wfcrizmsar 1950
3 i 3 | Al somg A 3 g B ey
FA: 0.15 m2v! §7! @H 0.05 m*v! s~
aietl, T SoFg T B
A) 4 x10' gfy Hed

(B) 3.2x10161:ri%fn‘1a3
(C) 1.6 x10" yfg ded

D) 0.8 x10'6 ufy Hied

- T %™ % fol 18 / SPACE FOR ROUGH WORK
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21. Apointcharge expériences foree F at certain 21, @& ﬁfﬂ'ﬁ %‘ga%ﬁ g ¥ frea ‘{ff W Th ﬁﬁ\g

distanc from the axis of an electric dipole. If AT F ad & FH AT 2l ﬁ;r;i
the distance of the point charge from the axis T Y 3??& 3 ?«;ﬂ i T S _ﬂ S
of electric dipole is doubled, then F will be s : ————
(A) 2F (A) 2F
(B .I_:. F.
_ ) A B) N
' F
= I
(C) g | (C) _8_
F
ol F
®) > o

22. Four plates of equal area “A” are separated 7. ’W STHS “A” % UR Wel & W?@ d
by equal distances d and are arranged as R FETER @1 TR | Guqed i Eiil

shown in figure. The ec_iuivalent capacity is

a +
2e, A
A 0
A) 1
3gg A
B) T
4e, A
C 0
@ d
g A
®) 54

(&) 26’3 2
®) 36(01 A
© 4'6(;) A
G

T i o Tl W18 / SPACE FOR ROUGH WORK
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23

25

A vertical wire carries a current in upward.”

direction. An electron beam sent horizontally

| towards the wire will be deflected
“(A) towardsright
(B) towards lefi
(€
8)

upwards

downwards

An electric current of 0.4A is passing through
a silver voltameier for half an hour, Find the

amount of silver deposited on the cathode.

(ECE of silver=1.12 x 10" kgC™ 1)

(A) 1612¢g

B) 0.806g
(C) 1612
@ 8.06g

The reactance of an inductance 0£0.01 H for

50 HzA.C.is

(A) 6280
B) 3.140
(€ 1570

@) 0.840

2

qzﬁam‘fa{aﬁﬁww%aﬁ? R Tefed 8l
@ 2 | ar & ol afrw R # ﬁ'\afm e
ESEHERCNEGIC AU

24,

25.

(A) g R
B) TR IR
(C) FWH AR
D) =& an _ ,
Rree et & 0,44 B frgp o an 2
o TG 1 A 3 | FiE W wHta Riww
1 A
(fesr o1 forgq TraTaien geames
(ECE=1.12 x 107%kgC™1)
(A) 1.612g
B) 0.806g

(©) 16.12¢g
D) 806g
0.01 H i 1 el 1 S0 Hz 0., B
&M W TfETd &1 A B

(#) 6280

B) 3.14Q

© 1579 |

(D) 0840

T 18 & fo@ 918 / SPACE FOR ROUGH WORK
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PART - I (Chemistry)
WA — 11 (FHTE SIR)
26. Forad-electron, the orbital angular momentumis 26, . Tk d-g0iFgiA o ToTQ 2heTeh HIvNG Gel & HH

— — et _ am
/s
it @ 2 (——]
27
® —
2z h
)Ry
| h , '
(&) -2 (E—] Al
G (ST
‘® V6 (—}-l—j S h
27 ®) 6 (E}J
27. The emission of y -rays from a radioactive 27, Pt et s @y _ Rt o S
nucleus is due to ' A g 2 ,
(A) Thesideeffectof S —raysemission (A) T& - Fro Icasa @l Wﬁ 2
(B) Thesideeffect of & -raysemission B T a- fereor et ERShlEl 2
(C) Proton transition in different nuclear ©) ffim v S WA WgE T
energy levels » S
(D) Constant change of neutron to protons D) QKTT—{ ko Tre § qo et & g&-ﬁ o
and vice - versa : PR qREd
28. What is the hybridisation of N7, 12 and 8. N;, I; @ N (SiHs)EEI . My 9
N(SiH,)? vite

(A) sp?.sp’d | sp> | (A) sp®,sp’d, sp’
: gori i
(B) sp, sp°d, sp? (B) sp,sp°d,sp

»(_C) sp? , spd, dsp?” (€) sp*, spd, dsp®

D) sp*.sp’, sp® | D) sp?,sp’, sp®

% % % fo 18 / SPACE FOR ROUGH WORK
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29.  CsCl has cubic structure. Its density is 29. CsCl 3 g 9= gl 8 | afe a9 g9

3.99 g/cm® . What is the distance between' 3.99 71/ a3 & ar Cs® an G e
Cs® and C1° ions 2 1 gt # g 9
(Atomic mass of Cs =133) - 15 —(Cs HUET-HR =133) - .

G Ve G | (A) 713.6pm
(B) 412pm . ® 412pm
(C) 356.8pm (C) 356.8pm
(D) 1784pm - (D) 178.4pm
30.: Half-hte of-a radioac_tlve sample is 2x years. 30. o et :ﬂﬁ & a7g- Y 2x i
What fraction of this sample will remain , .
undecayed after x years. T R <8 T-I'Hff 1 o HET = 7
I s b
@ 75 @& 5
1 LS
®) NE) ®) NE]
1 ; 4l
© 3 N - © 75
®) 2 | ® 2 _
31. The equilibriuin constant in a reversible 31, fou e aueE w Sepelie e & 9
reaction at a given temperature o
(A)  depends on the initial concentrations of g . . 4
the reactants - .(A) AR 25 Feh gl T PR B 3
(B) - depends on the concentration of the B) THIEE T I &Y YigAT | R
products at equilibrium _ AT
(C) Itis notavcharacteristic of the reaction ©) =& sfufE & R 76 %
(D) does not depend on the initial . '
concentrations LT D) R @i W R T dan @

T & % fold 18 / SPACE FOR ROUGH WORK
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32

33.

34.

35.

Enthalpy of solution of NaOH (solid) in water 37,

is—41.6 kJ mol™". When NaOH is dissolved
in water, the temperature of water -

(A} —decreases

(B) increases

(C) doesnotchange

(D) fluctuates indefinitely

The rate constant of areactionis 1.5 x 10’s™! 33,

at 50°C and 4.5 x 10”s™ ' at 100°C. The value
of Arthenius factor (A) will be

(R=8.314J K 'mol™ )
(A) 5.45%10"%!
B) 109 x 10101

(C) 5.45x10% 1
D) 10.9x10% !
The emf of the following cell is 0.086V : 34.

Ag|AgNO;(0.0093M) || AgNO; (xM) | Ag.
The value of x willbe

(A) 0.295

B) 0.642

(C) .0.266

D) 0.359

Which of the following will have the highest 35,

coagulating power for As,S; clloid ?
&) POJ

B) SO;

(C) Na*
o AP

®) 0.359

el H oM NaOH (38) & Td —41.6 kI mol™?
2 | 59 Sl § NaOH J1a71 @ | 99 STl 1 1AM

(A) ved 3

® Tt

(C) TWH Tl B |
(D) AT Fedl-Fed @

T R B T R 50°C W 1.5 x 10757
T 100°C | 4.5x 107571} | anféfam 1o

(A) BTHME &
(R=28.314J K 'mol™ )

(A) 5.45 x 101%!
(B) 10.9 x 10'%"!
(C) 5.45x10% !
®) 109 x10%!

1 ¥ &1 emf 0.086V 2 :
Ag|Ag NO; (0.0093M) || AgNO; (xM)| Ag.
x &1 "F &

A) 0.295
B) 0.642
(C) 0.266

R & AsyS, Fee ¥ Rg st o
gwen foheht geft 9
(A) PO

B) SOz~

(C) Na*

D) AP

T Fd & fd 918 / SPACE FOR ROUGH WORK'
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- 36, The salt used for performing bead testin 36, O e fovelowr § 9 &av ot fig

qualitative inorganic analysis is e % o T F e R
(A) CaSO,-2H,0 (A) CaSO,-2H,0
~ ® Na(NH)HPO,- H,0 - ® NaQH ) HPO, - H,0
(© K,S0,-AL(SO,), - 24H,0 © K,80,-AL(SO,), - 24H,0
D) FeSO,- (NH,), SO, - 6H,0 (D) FeSO,- (NH,), SO, - 6H,0
37. Copper sulphate dissolve in excess of KCN 37. HR Gk F KONt atftrewen & e
to give | W T B 3 |
(A) CuCN | (A) CuCN
B) [Cu(CN),I* O ® [N,
©) [Cu(CN),I* O [CuEN),"
O [Cu(N),T O NI
38. Hybridisation, shape and magnetic momentof ~ 38: [Ni(CN)4]2— % W, T T R
[Ni(CN),[*are respectiveiy el 2 AT
(A)  sp®, Tetrahedral, ' W) sp’, T,
JEBM J8BM
(B) dsp?, Square planar ®) dspz.,il'ff HA,
v EBM
(C) dsp?, Tetraheadral, (C) dsp®, AT,
Zero LA

(D) dsp?, T AHa™

(D) dsp?, Square planar

Zero

% F1l & @l W18 / SPACE FOR ROUGH WORK
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39.

40.

‘Sodium nitroprusside when added to an
alkaline solution of sulphide ions produces

purple colourati due to the formation of

(A) Na[Fe (H,0),NOS]
(B) Na,[Fe (H,0),NOS]
(©) Na,[Fe (CN),NOS]
@) Na,[Fe (CN),NOS]

When hypo solution is treated with silver.

bromide, the product formed is
@) [AgS0),

B) [Ag(S,0,),I

©) [Ag(S,0,),1"

D) [Ag(S,0y),1"

Which order is correct in spectrochemical

series of ligads ?

(A) CI"<F~<C,0F<NO,; <CN-

(B) CN <C,0f <CI"<NO <F"

(©) - C,07 <F <ClRx NO,” <CN~
M) F~<CI"<NO; <CN<C,0*
“ar cbmpound of C,H,N is in the ratio
18:2:7. It gives Carbylamine Test. The str.
of compound ‘A’is
(A) Diaminobenzene
(B)  Aniline
(C) Toludine
(D)  Anicidine

39.

40.

41.

42.

qewTEs & & foeem 3 W= wifeam Aredigarse
frema B A TeEh T g §, Fe % T
& BRI

(A) Na[Fe (H,0),NOS]

B) Na,[Fe (H,0).NOS]

(€) Na,[Fe (CN).NOS]

(@) Na,[Fe (CN),NOS]

HQ 8, W I T Bl

@A) [Ag[s,0,),1"

B)  [Ag[S,0,),I"

©) [Ag[8,0,),1*

D) [Ag[s,0,),1*

agrbine doft # FamreR B ol % 2
(A) CI"<F~<C,0; <NO; <CN-
B) CN"<C,0F <CI"<NO; <F

(©) C,0f <F~<CI"<NO; <CN-

M) F~<ClI"<NO; <CN<€,0F

‘A AR § C,H,N ®T U1 18:2: 78 | 98
FrieeH Temr 3 3 | s AR

(@A) T

®) el

©) T
D) e

I% %™ % ol S / SPACE FOR ROUGH WORK
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43.

44,

45.

Consider following compounds : - 43.

CHOH CHCOOH CH,COOH
@ @), e D

The correct order of acidity is :

A I>1I>1I

®) I>W>1

(© m>u>1

O H>M>1

Select the wrong statement among the

following
(A) The C—O-C bond angle in ether

is 110°. | _

(B) Diethyl ether reacts with excess of HI
to form ethyl iodide. |

(C). Ether and alcohols are functional
isomers. e E

(D) Ethers are lewis base hence do not
react with Bronsted acid like H,SO,.

The product formed when cyclohexanone ~ 45.

undergoes aldol condensation followed by

heating is : O
(A)
OH
- 0

44.

frt A W Rrem SR

CHOH CHCOOH CH,COOH

@ (10 (11D

HrAlTa 1 GE HA 8 -
(A) 1>1>11
®B) I>10>1I
(C) MI>I>1

O) U>II>1
o1 % He ol U wEid SR
(A) FRHC-O-C AT AT 11

o IEieEE 9 B |

0°% 1

B) eEule SR % HI % anfia 1§ T

(C) $R @ Fehle BharcHs FHI § |
(D) R FEW &R A & A T FS I

S 1,80, & firn 78 R €

|

fpe ST R, O SUE T R

O
A)
' OH
© Q@

OH
® >l
| 0 0

- T %4 % forl STE / SPACE FOR ROUGH WORK
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46. A carbonyl compound reacts with hydrogen 46,

cyanide to form cyanohydrine which
on hydrolysis forms a recemic mixture of

o= hydroxy acid. The earbonyl compoundis—

(A) diethylketone
(B) formaldehyde
(C) acetaldehyde

(D) acetone

47.  Arrange the following compounds in the 47

decreasing order of reactivity for hydrolysis
reaction

(1) CHLocl

’ Ccocl

3) CH, —@— cocl
2k
@ onc O H>— c-cl

(A 2>4>1>3
B) 2>4>3>1
C) 1>2>3>4
D) 4>3>2>]

() ON

:

T e Al SRge wEEEe § R
N HEAEREH T & fe s sreer
T T EIEHA 3T o1 0 Qe frsyor g
Bl HrEd A 8

A) sEyetER |

B) wHfeeRe
(C) ufrefesse
D) R

frfoea T =) Taamee fea €

(1) CHCOoCl

2 ON

~O>-
3) CH —@— CoCl

3

0
) OHC c_al

A) 2>4>1>3
B) 2>4>3>]
C) 1>2>3>4
D 4>3>2>1

T %1 % for} STg / SPACE FOR ROUGH WORK

0912/1E-NSG/PP-M [19]
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48.

49.

50.

Which of the following contains non-  48.

tr‘ansitic’)'nal‘ fneftal jons ?
(A) Vitamin By,

(B) Chlorophyll

(&) .Haemoglobin

©) Tnsdi

The enzyme pepsin hydrolyses 49.

(A) proteinsto amino acids

(B) fatstofallyacids

(C) glucose to ethyl alcohol

(D) polysaccharides to monosaccharides

When amixture of solid NaCl, solid K, Cr,0O, 50

is heated with conc. H,80,, orange red

vapours are obtained of the compound

" (A) Chromous chloride

(B) Chromyl chloride

(C) Chromic sulphate

(D)  Sodiuni dichromate

ﬁeﬁﬁaﬁa-mﬁm'aﬁﬁwﬁﬁ? :

(B) 91 H IHT I A

(C) T ® T SAehigel A
D) uichREEE F RS §

S NaCl 3% K, Cr, 0, freor 3 1 W15 H, SO,
%Wﬂﬁﬁmtﬂm% Eﬁ‘«mfﬁwmm
g la‘éﬁm?ﬂﬁzﬁmﬁ

(A) HHEY FANES
B) HEE Tz

(C) HifHes Tehe

(D) difeem e

¥ 1 % o W18 / SPACE FOR ROUGH WORK

0912/IE-NSG/PP-M
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PART —III (Botany)

~ 11 (Sreafer gme) |

i

51, Thefigures of cork cells as secnbyRobertHooke 51, & §€B ER W 7 @ Bt 3 R |
were published in his bogk e ,ﬁ_ﬁw ﬁuﬁﬁﬁ@ﬁ _.;,__ S
(Aj vOm'gin of Species (A) 3RfF s s
(B)  Plant Kingdom (B) i farem ‘
(C)  Genera Plantarum (C) T wieRH.
(D)  Micrographia D) #EHEETT : ‘
32Z. Which enzyme works in conjunction with SSB 2. HRCRACT HT%WUT % THA HIA-TT foam I
proteins during D.N.A replication? a9 9 e FAT 29 {
(A) Helicase @A) e
(B} D.N.A.Polymerase (B) gﬁ_'q;[.q; Ul
(C) R.N.A Polymerase (C) RN, Gl
(D) Ligase D) ferw
53.  Chromatin is chemically made of 53. TEmEE T W (e b @ﬁT 27 | '
(A) nucleic acid, histone and non-histone ol T ity [ TN
~ protein B) ik I T GEH W i
(B)  nucleic acid and histone proteins ©) =i v R ’,
(C)  nucleicacid and non-histone proteins L il ’
(D) nucleicacid ©) = O ,’l .
54. Which of the following granules are presentin  54. m?ﬁﬁﬂmaﬂ A F-T a'—"{a BICIRSII Y, !
cyancbacteria ? . 5 . : "
| , (A) el |
(A)  Polyglucon |
. (B) HEFHRIA "
(B) Carboxysomes -
(C)  Gas Vacuoles © T '
|
(D) Allthe above D) SwKH Feft ,'

T F & T 918 / SPACE FOR ROUGH WORK

912/1E -NSG/PP- M
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55,

~ (B) Animalcell

56.

57.

58.

59.

Bacteriophage attacks \ 55.

(A) Plantcell

(C) Bacteria
(D) Mycoplasma

Spirogyra s a

(A) Unbranched filamentous alga
(B) Branched filamentous alga
(C) Unicellular alga

(D) Colonialalga -

Coeno gametes are formed in .8

(A) Funaria
(B) Mucor
(C) Spirogyra
(D) Selaginella

Which of the following cells in pinus forms male 58

gamete?

(A) FirstProthallial cell
(B). Second Prothallial cell
(C) Tubecell

(D) Bodycell -

Pollen grains germinate on 59.

(A)  Stigma

B) Style
(C) Owule

(D) Ovary

56.

Gﬁm@ﬁﬁﬁ’r‘%@mm%?

(A) UTEH HIIH

(B) — iwa it
(C) SfEm
(D) TR
TR 3

<1 Frmior et 29

(A) T WAREE HIRTH

®) T nitee B

(©) & Pl
(D) e BRI
TRF &Y FEl HHRA &t & !
(A) aRfEm f

®) dd®

(C) <fisg
(D) 3SR

frr & -2 i oew § W gEE

T F1 % fo@l 18 / SPACE FOR ROUGH WORK
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60.

61.

62.

63.

The number ofegg cell, synergids, central cell 60.

-and antipodals in the female gametophyte of
angiosperms is respectively

(A
®)

©
(D)

The outermost layer of endosperm of maize 61.

L1,2,3
1,2,1,3
1,3,2,1
1,1,3,2

grain iscalled

A)
®)
©
)

Stone cells : are an example of whith of the 62.

Epidermis
Alurone
Tunica -

Pericarp

following?

A)
(B)
©
(D)

Parenchyma
Collenchyma
Sclerenchyma ,

Complex tissue

P, is the reaction centre of

(A)

- ®
©
)

PS1

PS1I
Chloroplast
All the above

63.

Wﬁﬁ%ﬁﬁamﬁw@a “
faafe, Wﬁa aﬁzqﬁ%@sﬁm
A Bt 8

A 1, 1,2,3

®) 1,2,1,3
© 1,3,21

D 1,1,3,2
(A) T |
®) T

©) eFm

(D) Ul

5 B e & 9 free samor 29
@ s

®)  TEHITE

©) i

(D) et Fas

P, ST 375 3

(A) PSI

B) PSII
(C) TR
(D) SWiH Tt

< F % ford T8 / SPACE FOR ROUGH WORK

0912/IE-NSG/PP-M
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64.

65.

66.

67.

Respiratofy quotient for linseed seed is

A) 1

(B) 0.64
© 154
(D) 0.03

Acetyl CoAisa

(A) Connecting link between glyoolysxs and

Kreb's cycle
(B) End productof glycolysis .
(C) End productof Krebs cycle

(D) None of above

Which of the following is resplratory substrate-

n photoresplratlon 4

(A) Carbohydrate

(B) Fat

| (C) Protein

(D) Glycolate

Hormone primarily connected with cell divi-
sionis

(A) IAA
(B) NAA
(C) Cytokinin

(D) Gibberellicacid

65.

66.

67.

W

agﬁam%szﬁ@%%quzm
qH B

(B) 0.64
(C) 1.54

@) 0.03
weifeet HT~TEA &

(A) IR T 35 5 i Sie Al

FHE
(B) TR Bl 3 IR
(C) %<8 T H I IR

(D) TR HE A&

v e o e var e A A e A e ?
(A) FETEESE
®)

% F/ % fordl W / SPACE FOR ROUGH WORK.
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68. Whatis auxin? 68, SR w29 "
(A) Protein ., - '(A). weA |
® Fat an ® .
(C) Growthhormone (C) 3fg g
(D) Cell (D) HIRwEH
69. Which of the following growth honﬁones was 69, i Q H-a gy wi wm e
. firstly extracted from fungus fusarium? AW FIF § W R T 979 :
(A)  Awin (A) R
(B) Gibberellin ®) e :
(©)  Cytokinin © wEERRE -
() Kinetin Ll a7 )
70. - Enzymes can 70. U~ITEH |
(A) stop the reaction @ R
(B) change the reaction ®) . 5 % w9 TH g
(C) catalyse thereaction (©) T % i H T
(D) None ofthe above (D) IWH F A HE 7@
71. Streptomyces venezuclacisusedinmakingof 71, RereRE FEeh @1 IwE f i @ frw
which of the following antibiotics? wierdifers & Fwtor & g 29
(A) Streptomycin (A) HLHRERA ‘ .
(B) Chloremphenicol - (B) TR
(C) Tetracyclin © e
(D) Nystatin ). Ty
T wedw for Tg / SPACE FOR ROUGH WORK
' 0912/ IE-NSG/PP-M [25]




72.  Example of pollution-related disease is

(A) Molybdenosis

(B) Pneumonicosis .
(C) Leprosis
(D) Fluorosis

73.  Which vector is used in crop improvement as
natural genetic engineer

(A) Plasmid
B) Cosrnid
(C) Phasmid
(D) Agrobacterium

74. The source of morphine is
(A) Rauvolfia Serpent‘ina‘
(B) Cannabis Sativa.
K(®) Papaver Somniferum
(D) Cajanus Cajan

75, Hardest wood is found in
(A) Shorea robﬁsta‘
(B) Tectona g’;andis Pt
(C) Cedrusdeodara

(D) Mangifera Indica

T3

75.

(C) YurR Wit

D) mw

R v e e o e 7
@ it g
®) e Afvew
© figa
(D) iR Sfeht

Y& HR % ford s9Tg / SPACE FOR ROUGH WORK
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76.

7.

79.

80.

PART -1V (Zoology)

— IV (ot 3mme)
Kupffer's cells are s | 6. FL IR B sl )
(A) Hormone Secreting (A) B 9 A e
(B) Fatcells (B) T HIRTH
(C) Mastcells (C) =W Hifdrem
(D). Phagocytic . (D) HeTo FHIRTeRI
Intrinsic factor for Vit. By, absorption is 77.  Trfm By, & 3Nyl %ﬁ e B Fred
secretedby arferd grar 297
(A) Chiefcells of stomach (A) FERE & Hw BREE gr
(B) Sertoli cells of testes (B) I % TR R o)
(C) Paneth cells ofintestine (©) 3% It R g
(D)  Kupffer cells of liver D) % % FR BT gm
P "ilﬁ?é’ddf§°§3ﬁ?“§i“y§i T e @ ane IS i,
haemoglobin dissociation curve, this is due to SN aﬂ:@m w % il A aifers znﬁ .
S B, et o § -
(A) Hamburger effect (A) TR e
(B) Bohreffect B) ‘IR WWE
(C) Halden effect (C) =T uHE
(D) Double Bohr effect - (D) T IR U9E
Haversian system is diagnostic feature of 79. TERiE = U TR T 2
(A) Avianbones (A) el & afey
(B) Reptilianbores B) T H ey 1
(C)  Mammalianbones (C) wwed % e o
(D) Boneofall animals ) w FG F A B ; :
The sequence of Vertebrae fromneck topelvis ~~ 80. uT % _W QU H, T F wR AT e
'~ inhuman vertebral column is T FICHIA! H1 TE SHA
(A)  Cervical, Thoracic, lumber, pelvic (A) TEEH, TR, IrR, Tetfen
(B) Sacral, cervical, thoracic, lumber B) e, TRATZhe, i, fFR
(C)  Cervical, lumber, Thoracic, Sacral (O) TR, R, 9Rf, S
(D)  Cervical, Thoracic, Sacral, lumber (D) HEEHA, IR, e, R

T F & fo ST / SPACE FOR ROUGH WORK

0912/1IE-NSG/PP-M
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81.

82.

83,

84.

85.

The contraction of gall bladder is due to 81. e g T THIA BT &
(A) Enterogastrone (A) TeEMEE g
(B) Cholecystokinin " __ B) WiwRREEEHE
© G © s
) Seactn D) R,
Deficiency of ADH will resultin - \ 82. ADH®IHHIN Elalk
(A) increased volume of urine (A) 3 H e A g
(B) decreased volume of urine: B q:;rﬁ AET § e
-,(C), excessive secretion of Urochrome ©) T i mEn
(D) changeinpH from acidic to alkaline ; !
| | (D) EE | Al pH A uiEda
range 1) ] -
The egg of some mammals have moreyolk 83 D TGN % 3108l  3Afem T Bl 81 9
they %% . (A) el wwed
(A)  Aquatic Mammals ol
e B) Tt
(B) Metatherians : '
(C) Prototherians (C) gk
D) Euthenans = D) q\éjﬁm i
M.any phy.siological- ch_gnges are associat.ted 84. F HirRR fedd @2 9y % Ay afEi
eters do ? -
pA, it = 2 fEfdd & gar
( )", reatinine clearance (A) SRR Freh
B) Expiratory volume (B) ﬁ:W e
(C) Hematocrit (C) ke
(D) Rapid eye movement (REM) sleep (D) g = F=ed (REM) fag
The number of linkage group(s) presentin - 85. SCANET BIAE | ol qd &1 T Bt &
Escherichia coliis - A 1
@2 ® 2
® 2
) 3
© 3 o
®) 7° D) 7

T F F ol w18 / SPACE FOR ROUGH WORK

0912/IE-NSG/PP-M.
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86.

87.

88.

89.

How many barr bodies will be present in
human cells containing the following number
of chromosomes?

XX 6. XXXY - ———
2. IRy 7. XYY

3. XO - 8., XXX

4. XXY GH S EXOEK

5. XXYY

‘The correct number of Barr bodies 1 to 9is

(A) 1,0,0,1,2,1,2,0,3
® 1,1,1,2,1,0,0,2,3
(© 1,0,0,1,1,2,0,2,3
®F150,1,2,1,3,0,1,2.

Which of the following pairs is biologically

incompatible for marriage?
(A) Rh™ manand Rh™ woman
(B) Rh"manand Rh™ woman

(C) RH" man and Rb" woman

(D) - A" man and B* woman

Industrial melanism as observed in peppered

moth proves that

(A) Thetrueblack melanic forms arise by a
recurring random mutation

(B) © The melanic form of the moth has no

- selective: advantage over li ghter form in

industrial area

(C) Thelighter form moth has no selective
advantage either in polluted industrial
area or non-polluted area

(D) Melanism is a pollutlon generated
feature

A population is a group of

(A) individualsina species

(B)  species in a community

(C) communities in an ecosystem

(D)  individualsina family -

86.

87.

88.

89.

-

e Bifieeiat § R a1 e @ En

1. 5 6. XXXY

2. XY 7. XYY

3. XO 8. XXX

4. XXY 9 XXXX

5. XXYY

A GET 1 9 9 % Toll 9l R o1 f T 3

(A 1,0,0,1,2,1,2,0,3
® 1,1,1,2,1,0,0,2,3
(€ 1,0,0,1,1,2,0,2,3
®) 1,0,1,2,1,3,0,1,2
= & & B8 9 @& e = d far

- SUGTh TE &7

(A) Rh~ 3H W Rh- 3iRa
(B) Rh" e T@ Rh- 3iva
(C) Rh' aeHt W& Rh' 3iRa
D) A" 3reH w@ B s
Mefes sfogsrar S fs 0 Wiy &
A fgaame s |

N Wmmwwgﬂm

agfoesh Scaiadd & a7
B) frpeor A @l aleifes &% & 5%
ﬁwﬁwﬁﬁ%wm
e et 2
(C) & T & 7Y H 7 ot vgie aefig
& IR AE il & A e
@y firetar 3 [
(D) aﬁwmqam?gmﬁﬁaamé
(A) wmﬁsﬁa%aﬁa

L ® W # g i

(C) wiRkffereht o & wrgfife
(D) UF UReR & Tee

Y% %1 ¥ ford g / SPACE FOR ROUGH WORK
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90.

Match list I with list IT and choose the correct 90.

option :
Ll Listll
. A. Pacific Salmon 1. Verhulst - Pearl
Fish ' logistic growth
B. N; = Noe" 2. Breed only once in
life time _

C. Oyster 3. Exponential growth
D. dN/dt=tN E—Kﬂ 4. A large number of

9L

92.

93..

94.

small sized offSprings
(A) A-4,B-3,C-1,D-2"

B) A-3,B-4,C-1,D-2
(C) A-3,B-1,C-4,D-2
®) A-2,B-3,C-4,D-1

In binonual nomenclature, the names stands for
(A) One scientific and one popular

(B) Both are name of species

(C) One generic and one species

(D) Both names are generic

Classification of phylum—Protozoa isbased on
(A) Locomotary organs

(B) Shapeof Body

(C) Canalsystem

(D) Reproduction

Modern man is believed to have appeared on
the surface of earth - -

(A) 0.1 million years ago

(B) 0.3 million years ago

(C) 1.3 million years ago

(D) 3.0 million years ago

A connecting link between reptiles and birdsis ¢ 4;
(A) Archaeopteryx

(B) Platypus
(C) Whale
(D) JavaApeMan

91.

92.

93.

3oft 1w Ioft 11 ) AR o T SRR
& -

Suft-] Soft-11

A. tfifre gama 1. B H

B G| ARLEE gl

B.B. Ni= Noe"™ 2. R S d
HAT U IR W

| A §

C. TR 3. THUMNEE gig

D. dN/dt=rN [%} 4. B AHR H
gataa v a9
e

(A) A-4,B-3,C-1,D-2

B) A-3,B-4,C-1,D-2

(C) A-3,B-1,C-4,D-2

D) A-2,B-3,C-4,D-1

fg-m ugfa ameRo § AWl F1 Aaed §

A) Q‘Faﬁlﬁ.aﬁ@{ﬁq‘ﬂg

B®) aF AW S &

(C) T Fxfa o gEY Mt ol

(D) A T T %

TG MRS 1 wifetor aneniia 8

(A) WEEH I W

(B) IRR . AHER W

(C) AR -

D) W ®

AT A Bl T ST

(A) 0.1 fferm o gd

®B) 0.3 i = o

(C) 1.3 ffoma a8 o

(D) 3.0 fufergm as :

wligy 9 ueht % fi e 2

(A) afhareRe™

B) wdmE

(C) =

(D) T 9 AEE

T o1d & foi@ S8 / SPACE FOR ROUGH WORK
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95. . Retrogressive metamorphosis is the case of tad-
pole of :
(A) Frog

- ——£3)—Balanoglossus
(C) Herdmania
(D) Proteus

96. Thescientific and commercial method of bee

keeping is called
(A) Pisciculture
(B) Silviculture
(C) Apiculture
(D) Sericulture .
97.  Female anopheles mosquito is a vector of a
pathogen that causes
(A) Yellow fever
(B) Filariasis
(C) Malaria
(D) Dengue
98.  Which of the following is nota pathogen to
human beings?

(A) Entamoeba coli

(B) Plasmodium Ovale

© Eﬁtamoeba histolytica

(D) = Entamoeba gingjvalis
99. Which disease of eye is caused by bacteria?

(A) Xerophthalmia

(B) Glucoma

(C) Trachoma

- (D) Protanbpia

100. DDT s aform of

(A) insecticide

(B) herbicide

(C) pesticide

(D) parasiticide

ﬁj@@ﬁ{ﬁawmﬁﬁa(mmmﬂw)ﬁmﬁsﬁaﬁa
H g RY
A e
(B) THNAET
(C) wEHn
(D) ifmm |
96. WYTEE Tew w1 dwhEE 7 afiious Rty
FEAA S
(A) diHimeR
B) Rrfimew
(C) Ufremem
(D) fepear
97. mwﬁﬁﬁawwﬁﬁmmm%vﬁ
B B
(A) I FR F
B) wRRNARY
(©) wafan :
O ¥
98. T & / F-w wt § o 4@ 29
(A) wozarfier B
(B) wcHIfegn 3w
(O Tesnlar fedifafem
(D) e frhdete
99. ﬁmﬁ@raﬁwﬁmz&aﬁmﬂ%ﬁaﬁm%@?ﬁ
37 |
(A) <R
®) TR
© w@m
(D) weAftE
100. DDTfrEsRI®TR?
(A) Hems
(B) wdfase
(C) ufeame
O Fiare

¥ ¥ % ford T8 / SPACE FOR ROUGH WORK
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ours ~ Maximum Marks : 1

w%wﬁgmm_

Time for making answers

NN
T g,

me

1. @ v g d 100 v | YIS T 1 3% W 2 | Wl o s s sited

2. . wW g § UR wmEve wm o s ww, Rl wm o wee e, g ew
ety v, 9qd wmr c ueh yE| wwE T FANeE g

T ¥ IW, & T OMR IW-Fe (IR M) W Iifwa Hfm
RO qedlih gl fhar SRem i
et off a® % FepoR A AWM NG W HERA BA H ¥ GNd R

OMR Fwi-3ie (3 ¥fie) #1 W @ ovF T s ey 7 @ el 98 we
o 3l Ae a e ot g TR REE sy 98 @ ® M |

S

Notes | :

1. This question booklet contains 100 questions. Each question carries 1 mark. Answe
questions..

2.  This question booklet contains four parts — First Part : Physics, Second Part : Chem
Third Part : Botany, Fourth Part : Zoology. All questions are compulsory.

Indicate your answers on the OMR Answer-Sheet provided.
No negative marking will be done.

Use of any type of calculator or log table and mobile phone is prohibited.

o.M~ v

While using Answer-Sheet care should be taken so that the Answer-Sheet does nc
torn or spoiled due to folds and wrinkles.’ ‘
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